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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA1 In your opinion, which of the following are the most influential in determining the status of a country or group of
countries in the world?
(%)
(MAX. 2 ANSWERS)
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7 13 4 18 51 10 35 25 9 21 0 1
I | | 16 3 23 59 8 36 25 4 18 0 0
BG mmm 13 2 17 50 10 44 21 5 20 0 2
cZ b 19 1 18 68 8 19 14 2 27 0 0
DK Bmm 6 3 17 37 2 43 41 7 31 0 1
pe N 9 3 23 52 7 28 23 10 33 0 1
EE - 19 3 25 50 5 35 18 5 22 0 0
1. 9 5 1 51 4 50 32 7 16 0 0
ELE 19 7 18 65 7 30 22 5 21 0 0
B B 5 2 20 47 6 40 36 5 17 0 1
S | 19 5 16 54 9 32 20 14 19 0 1
HR 16 3 20 53 12 32 19 5 22 0 1
. | 10 4 18 48 14 45 26 9 12 0 1
o = 19 3 16 57 6 29 26 7 26 0 0
YA — 24 2 14 56 14 38 20 2 13 0 0
T = 29 1 19 62 10 28 18 4 10 0 0
LU 15 3 15 57 6 39 23 7 26 0 0
HU 14 3 23 46 14 36 27 7 13 0 1
Vil | 4 2 9 51 6 46 36 12 17 0 1
NL 7 4 20 55 8 34 32 4 30 0 0
AT o 9 8 13 2 12 39 37 14 19 0 0
PL 18 6 14 51 20 27 18 13 16 0 0
T EA 8 2 18 49 5 51 25 4 25 0 0
ro N1 19 8 12 41 12 34 22 12 20 0 1
S 10 3 13 55 1 32 28 6 19 0 0
SK 16 3 19 47 13 28 22 9 31 0 0
FI 23 5 14 57 10 29 14 2 29 0 0
SE mm 6 2 13 30 3 58 45 3 28 0 0
AL | 8 6 9 35 7 17 19 6 27 0 0
MK SE 6 2 17 49 6 39 27 9 27 0 0
ve Ei 16 3 13 62 20 21 17 10 29 0 0
rRs M 29 3 17 53 11 33 17 5 16 0 1
TR 16 4 29 61 9 22 10 5 29 0 0
BA kel 18 3 17 59 7 25 17 6 22 0 0
ci E1 6 2 17 47 5 48 24 4 35 0 0
s = 4 4 1 32 9 57 41 6 8 0 1
NO B 2 1 9 18 3 58 54 3 41 0 0
K == 13 3 16 54 3 41 33 5 22 0 0
XK* 4 1 9 59 4 22 11 14 51 0 0

*This designation is without prejudice to positions on status, and is in line with UNSCR 1244/99 and the ICJ Opinion on the Kosovo
declaration of independence.



Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA2.1 In everyday life, we have to deal with many different issues, where we feel more or less interested. For each of the
following, please indicate whether you are...

New medical discoveries (%)
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vz 38 6 48 2 14 -3 (]
I | 55 79 41 -6 4 -13 0
BG 13 -1 58 3 26 -1 3
cZ b 42 14 53 -5 5 -9 0
DK B 35 4 54 8 1 -12 0
pe N 47 7 44 -5 9 2 ()}
EE - 41 13 52 -4 7 -9 0
1. 52 79 45 2 3 -16 0
I — 36 -5 49 2 15 3 0
S B 52 21 41 -13 7 -8 0
rR 11 46 0 43 -1 1 7 0
HR 29 -4 58 8 13 -3 0
i | 20 4 59 6 21 -7 ()}
o = 67 6 27 -5 6 -1 ()}
AVAR— 32 6 59 6 9 -12 0
LT 17 4 67 13 16 -16 0
LU 52 7 44 -2 4 -5 ()}
HU [ 35 -7 52 2 13 5 0
Vi | 43 3 48 9 8 -11 1
NL 42 -7 52 8 6 -1 0
AT 33 70 51 -5 16 -5 0
T — 13 4 49 -1 37 5 1
I | 70 55 29 -28 1 -26 0
ro N1 28 12 48 4 23 -5 1
Sl = 28 7 55 1 17 2 0
SK 26 0 54 -5 20 5 ()}
Fl 35 3 58 7 7 4 0
SE mmm 40 0 54 3 6 -3 0
Y | 9 N.A 62 N.A 25 N.A 4
MK & 29 N.A 47 N.A 22 N.A 2
ve [ E2 14 N.A 66 NA 20 N.A 0
rRs M 14 NA 52 NA 34 NA 0
TR 35 22 47 9 18 27 0
BA el 21 N.A 52 N.A 25 N.A 2
chv 3 42 7 53 4 5 -5 ()}
S — 31 2 56 -3 12 0 1
NO = 37 10 56 -3 7 -6 ()}
K S 51 7 44 -2 5 -5 ()}
XK 45 NA 41 N.A 13 NA 1




Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA2.2 In everyday life, we have to deal with many different issues, where we feel more or less interested. For each of the
following, please indicate whether you are...

New scientific discoveries and technological developments (%)
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vy 33 3 49 0 18 -2 0
Be N1 54 22 42 -6 4 -16 0
BG mmm 11 0 52 5 33 -3 4
cZ b 43 21 52 -4 5 -17 0
DK B 38 51 7 11 -12 0
pe HE 40 8 49 2 11 -6 0
EE - 44 14 53 3 3 -16 0
13 54 27 44 0 2 -24 0
I — 33 -4 45 4 22 8 0
s = 4 12 45 -7 14 4 0
S | | 38 -3 48 2 14 7 0
HR 27 4 57 8 16 -3 0
T b 13 -3 56 3 31 3 0
ey = 61 6 31 -6 7 -1 1
VA 34 4 59 8 7 -12 0
T 20 8 65 15 15 22 0
LU 51 9 45 4 4 -5 0
HU 32 -9 51 17 9 0
Vi | 39 3 47 9 13 -10 1
NL 50 2 44 3 6 -5 0
AT o 27 6 51 2 21 -4 1
PL o 14 -3 48 0 37 3 1
T EH 62 48 36 -13 2 -33 (]
ro K1 21 6 50 7 28 -9 1
Sl o= 29 7 51 -3 20 0
SK 27 5 50 -5 23 0
Fl o 34 0 57 6 9 -6 0
SE  mmm 43 0 52 5 5 -5 0
'Y | 7 N.A 60 N.A 29 N.A 4
MK & 24 N.A 45 N.A 29 N.A 2
ve Ei 14 N.A 64 NA 22 N.A 0
rRs M 11 NA 50 NA 39 NA ()}
TR 46 30 45 10 9 -36 0
BA Kl 17 N.A 54 N.A 28 N.A 1
cv E3 49 16 46 4 5 -11 0
- — 32 -3 57 5 11 -2 ()}
NO = 35 0 58 -3 0
K S 48 6 47 4 5 -10 ()}
XK 39 NA 44 NA 15 NA 2




Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA2.3 In everyday life, we have to deal with many different issues, where we feel more or less interested. For each of the
following, please indicate whether you are...
Sports news (%)
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IRy | 21 -4 38 2 41 6 (]
Be N1 19 -6 40 -5 41 11 (]
BG mmm 18 0 37 -1 43 2
cZ b 18 -12 48 8 34 (]
DK Bem 19 -7 30 -12 51 79 (]
pr HE 19 -9 37 -6 43 14 1
EE - 17 -5 41 -14 42 79 (]
1 24 -16 36 2 40 15 ()}
L = 27 2 26 0 47 2 ()}
B B 23 2 30 -5 46 6 1
rR11 23 -4 33 -7 44 11 ()}
HR o 27 -1 40 -6 32 7 1
. 21 4 42 3 37 -6 (]
o = 37 -1 28 -4 34 4 1
[AVA— 17 -10 44 -8 39 18 (]
LT 15 -1 45 -4 40 5 0
LU 17 -16 38 -7 45 23 (]
HU 23 -7 39 4 38 11 ()}
Vi | 24 -3 36 3 38 -1 2
NL 20 -6 38 -7 42 13 ()}
AT e 32 2 38 4 30 ()}
PL o 21 -3 a4 -3 35 0
I | 20 2 55 6 25 -7 (]
ro N1 19 7 38 3 42 4 1
S 30 -5 50 0 20 5 0
SK 26 -9 39 2 35 0
Fl o 20 -9 40 -9 40 18 0
SE  mmm 22 -9 32 -7 46 16 0
IY | 10 N.A 61 N.A 25 NA 4
MK & 23 N.A 32 N.A 44 N.A 1
ve K2 18 NA 61 N.A 21 NA (]
rRs EH 25 NA 32 NA 43 NA ()}
TR 28 13 44 14 28 -24 (]
BA Kl 29 NA 37 N.A 34 NA (]
ch E3 21 -13 39 -8 40 21 (]
- — 21 2 34 -11 45 9 (]
NO = 15 -14 42 -2 43 16 0
K S 17 -12 34 2 49 70 0
XK 32 NA 36 N.A 29 NA 3




Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA2.4 In everyday life, we have to deal with many different issues, where we feel more or less interested. For each of the
following, please indicate whether you are...
Culture and arts (%)
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vz 24 4 53 4 23 -7 0
Be N1 32 8 54 11 14 -19 0
BG mmm 12 3 57 4 27 -7 4
cZ b 24 4 66 6 10 -10 0
DK Bom 21 5 55 5 24 -70 0
pe HE 23 6 53 0 23 -7 1
EE - 24 -1 63 6 13 -5 0
13 32 13 58 12 10 -23 0
[T — 27 -3 50 2 23 7 0
Bs B 34 11 46 -8 20 2 0
rRoK1 32 3 46 0 22 -3 0
HR i 17 4 57 5 26 0 0
. | 14 1 56 7 29 -7 1
o = 47 3 40 -1 13 -2 0
(AVA— 24 2 64 4 12 2 0
LT 12 2 65 10 23 -8 0
(U — 27 -3 58 8 15 -5 0
HU 20 -12 59 4 21 0
Vi | 27 -5 48 2 24 1
NL 27 -3 52 3 21 0
AT o 22 7 46 -1 32 -6 0
PL o 14 0 53 2 33 -1 0
T EH 40 27 57 11 3 -36 0
rRo K1 15 5 54 9 30 -10 1
Sl = 14 -7 60 5 26 -4 0
SK 20 0 59 -1 21 7 0
Fl o 20 -1 63 9 17 -8 0
SE  mmm 18 12 57 9 25 3 0
I | 10 NA 66 N.A 20 NA 4
MK & 18 N.A 47 N.A 34 NA 1
ve K2 12 NA 69 N.A 19 NA 0
rRs EH 12 NA 54 NA 34 NA ()}
TR 36 22 53 15 1 -33 0
BA Kl 15 NA 54 N.A 30 NA 1
ci K1 25 -5 58 11 17 -6 0
.- — 20 -6 54 3 26 3 0
NO = 17 17 60 9 23 2 0
K S 20 0 60 19 20 -19 0
XK 32 NA 46 N.A 19 N.A 3




Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA2.5 In everyday life, we have to deal with many different issues, where we feel more or less interested. For each of the
following, please indicate whether you are...
Politics (%)
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IRy | 24 6 47 -3 29 2 (]
Be N1 33 15 54 2 13 -17 (]
BG mm 14 2 52 -12 31 8 3
cZ b 44 27 50 -8 6 -19 (]
DK Bem 36 13 54 -11 10 2 (]
pr HE 42 70 45 -9 13 -1 (]
EE - 28 14 58 0 14 -14 (]
1 40 21 52 3 8 -23 ()}
L = 29 0 49 0 22 0 ()}
ES = 16 4 38 -2 45 -3 1
rRo11 19 -1 44 -7 37 8 ()}
HR o 13 4 46 -7 40 10 1
. | 9 2 47 5 44 4 (]
o = 22 -8 33 -12 44 79 1
AVA— 25 9 60 -1 15 -8 (]
LT 19 7 63 7 18 -8 0
LU 38 70 50 -5 12 -5 (]
HU 13 2 45 -8 42 10 ()}
Vi | 31 12 47 -5 21 -7 1
NL 46 10 45 -8 9 2 ()}
AT e 28 10 50 4 22 -6 ()}
PL o 9 -1 53 37 0 1
I | 32 23 59 9 9 -31 (]
ro N1 15 4 41 -3 43 -1 1
S| = 14 3 45 -10 41 7 0
SK 26 6 49 -4 25 2 0
Fl o 32 18 54 -10 14 -8 0
SE  mmm 38 7 53 -6 9 -1 0
IY | 9 N.A 62 N.A 25 NA 4
MK & 15 N.A 39 N.A 45 N.A 1
ve K2 16 NA 63 N.A 21 NA (]
rRs EH 15 NA 39 NA 45 NA 1
TR 34 20 48 8 18 -26 (]
BA Kl 18 NA 48 N.A 34 NA (]
cH E3 45 8 48 7 7 -9 (]
S — 19 -6 53 -2 28 9 0
NO = 35 5 58 -3 7 2 0
K S 26 11 61 10 13 -21 0
XK 21 NA 43 N.A 34 NA 2




Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA2.6 In everyday life, we have to deal with many different issues, where we feel more or less interested. For each of the
following, please indicate whether you are...

Environmental problems including climate change (%)
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I | 55 16 42 -9 3 -7 0
BG 15 -6 59 7 23 4 3
cZ b 39 10 55 -6 6 4 0
DK Bem 39 0 51 3 10 -3 0
pe N 56 11 39 -10 5 -1 0
EE - 37 5 56 -3 7 2 ()}
1. 53 22 42 11 5 -10 0
I — 45 -10 45 6 10 4 0
S B 50 12 42 -10 8 -1 0
R 11 55 7 37 -3 8 2 0
HR 28 -5 61 12 10 -7 1
. 18 -3 63 3 18 7 1
oy = 68 4 26 -4 5 -1 1
AV 27 -4 60 7 13 3 (]
LT 15 4 68 3 17 -6 ()}
LU 58 0 38 0 4 ()}
HU [ 32 -17 55 11 12 1
Vi | 53 -6 41 5 5 1
NL 54 13 41 -10 5 -3 0
AT 44 6 45 -3 1 -3 0
T — 17 -1 58 -3 25 5 0
I | 71 48 28 -30 1 -17 0
ro N1 29 11 53 2 17 -6 1
Sl 35 0 52 -5 13 (]
SK 39 6 45 -10 15 1
Fl o 33 -7 57 2 10 0
SE mmm 40 -9 53 7 7 0
YR | 8 N.A 59 N.A 29 N.A 4
MK S 29 N.A 51 N.A 19 N.A 1
ve [ El 14 NA 68 N.A 18 NA 0
rRs M 14 NA 56 NA 29 NA 1
TR 47 27 42 -3 1 21 0
BA el 17 N.A 60 N.A 22 NA 1
cH K3 59 4 37 -4 4 0
- — 32 53 -6 15 ()}
NO = 30 -7 60 4 10 0
K S 44 5 51 5 -7 0
XK 33 NA 49 N.A 16 NA 2




Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA3.1 In everyday life, we have to deal with many different issues, where we feel more or less informed. For each of the
following, please indicate whether you are...

New medical discoveries (%)
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IRy | 13 2 54 0 32 2 1
Be N1 15 4 63 10 22 -13 (]
BG mmm 5 7 39 7 51 -4 5
cZ b 11 4 69 10 20 -12 (]
DK Bem 18 8 57 7 25 -15 (]
pr HE 16 4 57 0 26 -5 1
EE - 6 0 55 7 39 0 (]
1 13 0 64 13 23 -10 ()}
L = 5 -5 51 -10 44 75 ()}
B B 20 12 52 5 28 17 ()}
rRo11 19 -3 56 -4 24 7 1
HR o 9 -1 58 0 33 1 (]
. | 7 0 47 -10 45 12 1
o = 16 0 60 2 24 2 ()}
AVA— 3 -4 54 4 43 1 (]
LT 4 57 11 34 -13 (]
LU 17 2 66 7 17 4 (]
HU 7 0 38 -15 55 15 ()}
Vi | 16 3 59 17 23 -19 2
NL 7 -5 63 -6 30 11 ()}
AT e 14 7 55 70 31 17 ()}
PL o 9 2 49 -1 40 0 2
I | 8 3 72 32 20 -34 (]
ro N1 10 6 54 14 35 -15 1
S 9 -1 58 4 33 2 0
SK 6 0 56 3 37 -4 1
Fl o 6 2 50 -4 44 6 0
SE  mmm 10 -1 64 14 26 -13 0
IY | 10 N.A 57 N.A 29 NA 4
MK & 13 N.A 50 N.A 36 N.A 1
ve K2 7 NA 52 N.A 40 NA 1
rRs EH 4 NA 40 NA 55 NA 1
TR 17 9 61 23 22 -28 (]
BA Kl 1 NA 52 N.A 36 NA 1
cH E3 16 7 57 0 27 0 (]
- — 4 2 54 14 42 -12 (]
NO = 5 -3 60 35 -3 0
K S 13 2 64 6 23 4 0
XK 20 N.A 51 NA 28 NA 1




Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA3.2 In everyday life, we have to deal with many different issues, where we feel more or less informed. For each of the
following, please indicate whether you are...

New scientific discoveries and technological developments (%)
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vz 13 2 53 3 33 -5 1
Be N1 18 7 62 12 20 -18 0
BG mm 4 0 37 6 53 -6 6
cZ b 13 8 67 18 20 -23 0
DK Bom 20 7 58 11 22 -18 0
pe HE 16 6 57 3 26 -10 1
EE - 1 3 61 70 28 -12 0
13 15 7 64 22 21 17 0
[N — 6 2 46 -7 48 9 0
Bs B 19 12 48 5 33 17 0
rRoK1 17 -3 55 2 27 5 1
HR i 9 2 59 6 32 -3 0
. | 6 -1 43 -9 50 11 1
cy = 18 4 58 2 24 -6 0
VA 6 -3 54 4 40 -1 0
LT 11 5 57 12 32 -15 0
—_—
- 19 -5 63 8 18 -2 0
HU 7 39 -14 53 13 1
vt "l 18 5 55 21 24 -22 3
—_——

NL o 12 -3 62 0 26 3 0
AT e 14 7 49 8 36 -15 1
PL o 10 7 50 7 38 -7 2
T EH 10 7 71 33 19 -38 0
ro 11 10 6 53 22 36 22 1
Sl = 10 -7 57 4 33 2 0
SK 9 4 50 6 39 12 2
Fl o 8 -3 55 5 37 -2 0
SE  mmm 15 0 67 17 18 17 0
I | NA 59 N.A 27 NA 5
MK & 13 N.A 45 N.A 41 NA 1
ve [ E2 N.A 53 N.A 40 N.A 1
rRs EH 5 NA 38 N.A 57 NA 0
TR 24 14 61 26 15 -35 0
BA Kl 9 NA 52 N.A 38 NA 1
cv E3 16 0 61 13 23 12 0
IS B 8 -3 58 8 34 -5 0
NO = 10 -5 58 2 32 3 0
K S 14 2 65 12 21 -9 0
XK 20 NA 49 N.A 29 N.A 2




Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA3.3 In everyday life, we have to deal with many different issues, where we feel more or less informed. For each of the
following, please indicate whether you are...

Sports news (%)

® 5 °
5 3 E :
E ® 5 e g
- [T £ +
> = o e

g o
SR A

Q Q Q

vz 23 -7 37 -1 39 8 1
Be N1 26 -4 33 -9 41 13 0
BG mmm 18 2 35 -1 42 -4 5
cZ b 26 -13 46 5 28 9 0
DK Bom 31 4 31 -9 37 13 1
pe HE 22 0 36 -10 40 8 2
EE - 16 -3 44 -14 39 16 1
13 27 -15 35 -3 38 21 0
[T — 24 0 27 -2 49 2 0
Bs B 23 -5 29 -5 48 11 0
rRoK1 38 -18 30 3 29 15 3
HR i 25 2 41 -5 34 8 0
. | 16 -1 43 7 40 1
ey = 29 -6 29 -2 41 1
VA 13 -13 41 -9 46 23 0
LT 24 6 46 -6 29 7 1
(U — 25 -20 30 -10 45 30 0
HU 15 4 36 -9 48 12 1
Vi | 27 7 31 2 39 0 3
NL 15 -7 32 -18 53 25 0
AT e 27 7 40 -1 32 1
PL o 26 -3 42 0 30 2
T EH 15 3 41 2 44 1 0
ro 11 14 0 43 3 42 -1 1
Sl = 29 -13 48 3 23 10 0
SK 31 2 37 -3 30 0 2
Fl o 13 -9 36 -13 51 22 0
SE  mmm 19 -9 34 -3 47 12 0
I | 12 NA 60 N.A 24 NA 4
MK & 21 N.A 33 N.A 45 NA 1
ve K2 18 NA 50 N.A 31 NA 1
rRs EH 23 NA 33 NA 43 NA 1
TR 22 8 44 16 34 -20 0
BA Kl 29 NA 38 N.A 32 NA 1
cv E3 23 -7 31 -13 46 20 0
IS B 22 2 35 -5 43 3 0
NO = 13 -16 36 -7 51 23 0
K S 27 -15 35 6 38 10 0
XK 28 NA 36 NA 33 NA 3




Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA3.4 In everyday life, we have to deal with many different issues, where we feel more or less informed. For each of the
following, please indicate whether you are...
Culture and arts (%)
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IRy | 13 2 53 5 33 -6 1
Be N1 13 -1 53 15 34 -13 (]
BG mm 8 5 49 8 38 -13 5
cZ b 15 -1 68 5 17 2 (]
DK Bem 19 7 51 3 29 -10 1
pr HE 15 7 53 6 31 -14 1
EE - 9 4 66 8 25 -3 (]
1 14 2 60 14 26 -10 ()}
L = 9 2 55 -1 36 3 ()}
B B 19 9 48 2 33 -11 ()}
rRo11 22 7 51 2 26 -1 1
HR o 9 0 56 2 35 -1 (]
. 7 - 53 3 39 -1 1
cy < 19 7 52 2 29 2 ()}
AVA— 8 -5 59 -3 33 9 (]
LT 12 3 61 5 27 -6 0
LU 14 -9 56 8 30 2 (]
HU 7 4 50 -6 43 10 ()}
Vi | 15 2 50 70 32 -6 3
NL 7 -7 50 -3 42 9 1
AT e 16 4 44 2 39 -6 1
PL o 13 54 31 -8 2
I | 64 26 30 -25 (]
ro N1 9 5 57 21 33 -20 1
Sl = 8 -3 55 0 37 4 0
SK 12 3 58 3 29 -7 1
FlL = 5 -3 51 7 44 2 0
.

SE  mmm -6 54 7 40 -1 0
IY | N.A 65 N.A 22 NA 5
MK & 13 N.A 48 N.A 39 N.A ()}
ve K2 NA 61 N.A 32 NA (]
rRs EH 8 NA 47 NA a4 NA 1
TR 23 12 64 28 13 -36 (]
A Kl 12 NA 54 N.A 34 NA (]
ch E3 1 -7 51 12 38 -3 (]
S — 8 -5 56 7 36 2 0
NO = 5 -10 45 -8 50 18 0
K S 10 -1 58 11 32 -8 0
XK 24 NA 47 N.A 27 NA 2




Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA3.5 In everyday life, we have to deal with many different issues, where we feel more or less informed. For each of the
following, please indicate whether you are...
Politics (%)
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EE - 22 11 65 5 13 -15 0
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I — 22 4 58 -6 20 2 0
ES = 24 11 42 -2 34 -9 0
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HR 14 -5 58 2 28 3 (]
. | 5 -3 52 -3 42 6 1
ey = 20 -5 38 -11 41 75 1
AV 16 2 61 0 23 -1 0
LT 20 8 62 7 18 -8 ()}
(U — 35 4 53 -3 12 -1 0
HU 9 -1 43 -12 48 13 0
Vi | 37 17 47 0 15 -16 1
NL 29 3 63 0 8 -3 0
AT o 23 10 57 -1 20 -8 0
T — 17 -1 53 7 28 0 2
T EH 15 9 68 25 17 -33 (]
rRo K1 12 3 52 3 35 -4 1
Sl = 20 7 52 -3 28 3 0
SK 32 19 47 -15 20 -5 1
Fl 21 13 58 0 21 -13 ()}
SE  mmm 30 12 61 0 9 12 0
IY | 10 N.A 60 N.A 25 N.A 5
MK e 16 N.A 44 N.A 39 N.A 1
ve | Ei 15 N.A 56 NA 28 N.A 1
rs FE 15 NA 44 NA 40 NA 1
TR 28 17 53 14 19 27 0
BA Kl 20 N.A 52 NA 27 N.A 1
ci E1 36 7 54 -1 10 -5 ()}
- — 18 -3 64 3 18 7 ()}
NO = 20 -7 66 5 14 2 ()}
K S 27 6 60 9 13 -14 ()}
XK 26 N.A 45 NA 28 N.A 1




Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA3.6 In everyday life, we have to deal with many different issues, where we feel more or less informed. For each of the
following, please indicate whether you are...

Environmental problems including climate change (%)

® - -
E 3t £ 3
> 2 o o

g o
® s s ? S § ® s s ?
= 3% 0% 3% % i% 0 3
di8| 2|38 8|58 2

Q Q Q

vy 21 2 61 2 18 -3 0
1. | 28 6 64 4 8 -10 0
BG mmm 5 - 53 39 -2 3
cZ b 15 5 73 6 12 -10 0
DK Bmm 32 11 59 -3 9 -8 0
pe N 32 9 60 -7 8 -2 0
EE - 17 4 70 2 13 -5 0
13 ] 26 9 66 8 8 -14 0
I — 15 -1 61 -7 24 8 0
B B 24 8 56 7 20 -15 0
- ] | 27 -9 58 7 15 3 0
HR 13 2 69 7 18 -8 (]
. | 7 -2 60 -7 32 10 1
ey = 34 9 51 -3 14 -7 1
AV 8 -3 69 4 23 0 0
LT 12 6 66 11 22 -15 ()}
(U — 35 -5 59 7 6 -1 0
HU 10 -5 58 -3 32 8 0
Vi | 26 -5 62 16 11 -10 1
NL 25 8 67 0 8 -8 0
AT o 27 13 57 -5 16 -8 0
T — 15 3 57 2 26 -5 2
T EH 21 13 70 23 9 -35 0
rRo K1 13 8 66 17 20 21 1
S| = 18 0 65 2 17 2 0
SK 13 3 61 0 25 -4 1
Fl 17 0 69 -3 14 3 ()}
SE  mmm 25 4 68 5 7 -1 0
IY | N.A 58 N.A 28 N.A 6
MK e 17 N.A 53 N.A 30 N.A 0
ve | Ei N.A 59 NA 33 N.A 0
rs FE NA 53 NA 41 NA ()}
TR 29 15 58 13 13 25 0
BA Kl 11 N.A 59 NA 29 N.A 1
chv E3 34 1 62 2 4 2 0
- — 18 5 72 7 10 -12 0
NO = 15 -10 69 4 16 7 ()}
K S 20 -5 70 12 10 -6 ()}
XK 20 N.A 48 NA 31 N.A 1




Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

Of the following list of sources of information about developments in science and technology, please choose the two

QA4a

main sources that you use (watch, read, or listen) the most.

(%)

(MAX. 2 ANSWERS)
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European citizen’s knowledge and attitudes towards science and technology

QA4b And now, please choose the source that you use the least.
(%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA5 Among the following categories of people and organisations, which are the best qualified to explain the impact of
scientific and technological developments on society?
(%)
(MAX. 3 ANSWERS)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA5 Among the following categories of people and organisations, which are the best qualified to explain the impact of

scientific and technological developments on society?

(%)

(MAX. 3 ANSWERYS)
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European citizen’s knowledge and attitudes towards science and technology

QA6 Do you think that the overall influence of science and technology on society is...?
(%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA7 What level of public involvement do you think is appropriate when it comes to decisions about science and technology?
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

The following is a list of areas where new technologies are currently being developed. For each of these, do you think

QA8a.1

it will have a positive, a negative or no effect on our way of life in the next 20 years?

Solar energy (%)
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European citizen’s knowledge and attitudes towards science and technology

QA8a.2 The following is a list of areas where new technologies are currently being developed. For each of these, do you think
it will have a positive, a negative or no effect on our way of life in the next 20 years?
Wind energy (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA8a.3 The following is a list of areas where new technologies are currently being developed. For each of these, do you think
it will have a positive, a negative or no effect on our way of life in the next 20 years?
Information and communication Technology (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA8a.4 The following is a list of areas where new technologies are currently being developed. For each of these, do you think
it will have a positive, a negative or no effect on our way of life in the next 20 years?
Brain and cognitive enhancement (%)

5 kS @ 5 N 2 5 @
5 = 2 > . 5
> i £ > s o
VLY - | 28 43 14 5 3 7 71 19
T | 30 52 9 4 5 0 82 13
BG 34 41 5 2 1 17 75
cZ b 37 49 10 1 3 0 86 11
DK Hmm 22 51 14 3 7 3 73 17
pe 21 46 18 4 4 7 67 22
FE 43 43 7 2 5 0 86 9
. 42 44 9 3 2 0 86 12
L= 16 39 19 10 2 14 55 29
B Eo 52 29 5 3 1 10 81 8
rRoO11 16 51 13 4 5 11 67 17
HR 28 42 15 5 4 6 70 20
T Bl 31 45 13 6 1 4 76 19
o = 38 37 8 6 2 9 75 14
AV — 27 50 12 3 8 0 77 15
T 35 47 11 3 4 0 82 14
- 30 51 14 2 3 0 81 16
HU 27 41 16 6 2 8 68 22
Vi | 45 43 4 1 1 6 88 5
NL 30 50 12 3 3 2 80 15
AT 19 45 24 5 3 4 64 29
PL o 18 40 20 8 2 12 58 28
T E 64 32 2 1 1 0 % 3
rRo K1 24 36 20 7 3 10 60 27
Sl = 16 37 22 13 8 4 53 35
K om 19 41 18 1 4 7 60 29
FIl o 41 45 8 1 5 0 86 9
- 6 32 38 17 7 0 38 55
/Y | 5 42 13 13 11 16 47 26
MK E 26 30 12 4 21 56 19
ve [ Ei 26 44 20 1 1 70 28
rRs 20 34 15 12 5 14 54 27
TR 62 28 7 3 0 0 Cl) 10
BA kel 27 41 16 7 5 4 68 23
ch K 14 50 24 7 5 0 64 31
- — 37 46 3 4 1 83 12
NO B 36 51 1 3 0 87 10
UK == 37 46 11 2 4 0 83 13
XK 32 29 11 3 2 23 61 14




Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QAB8a.5 The following is a list of areas where new technologies are currently being developed. For each of these, do you think
it will have a positive, a negative or no effect on our way of life in the next 20 years?
Vaccines and combatting infectious diseases (%)

% k3 © 5 ~ 2 5 ©
s £z 3 S R
> &L B > ° ke
vy 50 36 7 3 1 3 86 10
I ] | 59 35 4 1 1 0 94 5
BG m=m 45 39 7 2 1 6 84 9
cZ b= 55 37 5 2 1 0 92 7
DK e 57 36 4 1 1 1 93 5
pE 57 33 6 2 0 2 90 8
EE - 53 36 6 3 2 0 89 9
I i 72 23 2 2 1 0 95 4
It — 40 a2 1 3 1 3 82 14
B Eo 67 24 4 1 1 3 91 5
R 11 34 48 7 4 3 4 82 11
HR 34 44 13 5 2 2 78 18
A | 53 34 3 1 2 87 10
oy = 53 30 4 2 3 83 12
AV — 28 48 14 5 5 0 76 19
T 2 37 1 5 5 0 79 16
Wy - 49 40 8 2 1 0 89 10
HU o 44 40 9 4 1 2 84 13
Vi | 62 31 2 1 1 3 93 3
NL 53 39 5 2 1 0 92 7
AT o 46 40 9 2 1 2 86 11
PL o 37 a2 1 5 1 4 79 16
T ER 83 15 1 1 0 0 98 2
rRo K1 27 39 19 8 2 5 66 27
Sl [ 28 39 15 12 4 2 67 27
SK 2 39 4 2 4 81 13
I e 64 31 1 1 0 95 4
SE o 65 31 3 1 0 0 9% 4
'Y | 11 48 12 12 8 9 59 24
MK & 46 31 1 6 2 4 77 17
ve Ei 31 42 18 8 0 1 73 26
rRs 30 38 14 8 1 9 68 22
TR 64 26 6 3 1 0 90 9
BA Kl 36 44 12 4 2 2 80 16
cv KB 47 40 8 3 2 0 87 11
S — 77 21 1 0 0 1 98
NO = 62 33 3 1 1 0 95 4
UK == 75 22 2 1 0 0 97
XK 46 31 7 4 2 10 77 11




Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA8a.6 The following is a list of areas where new technologies are currently being developed. For each of these, do you think

it will have a positive, a negative or no effect on our way of life in the next 20 years?

Biotechnology and genetic engineering (%)
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QA8a.7 The following is a list of areas where new technologies are currently being developed. For each of these, do you think

it will have a positive, a negative or no effect on our way of life in the next 20 years?

Space exploration (%)
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QA8a.8 The following is a list of areas where new technologies are currently being developed. For each of these, do you think

it will have a positive, a negative or no effect on our way of life in the next 20 years?

Nanotechnology (%)
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QAB8a.9 The following is a list of areas where new technologies are currently being developed. For each of these, do you think
it will have a positive, a negative or no effect on our way of life in the next 20 years?
Nuclear energy for energy production (%)
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QA8a.10 The following is a list of areas where new technologies are currently being developed. For each of these, do you
think it will have a positive, a negative or no effect on our way of life in the next 20 years?
Artificial Intelligence (%)
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QA8b In the coming years, which of the following areas do you think will be affected most by research and innovation?
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QA9.1 The following are some statements that people have made about science or technology. For each statement, please
indicate to what extent you agree or disagree.
Science is so complicated that | do not understand much about it (%)
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European citizen’s knowledge and attitudes towards science and technology

QA9.2 The following are some statements that people have made about science or technology. For each statement, please
indicate to what extent you agree or disagree.
In my daily life, it is not important to know about science (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA9.3 The following are some statements that people have made about science or technology. For each statement, please
indicate to what extent you agree or disagree.
Scientists spend sufficient time meeting people like me to explain their work (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA9.4 The following are some statements that people have made about science or technology. For each statement, please
indicate to what extent you agree or disagree.
I would like to learn more about scientific developments (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA9.5 The following are some statements that people have made about science or technology. For each statement, please
indicate to what extent you agree or disagree.
The results of publicly funded research should be made available online free of charge (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA9.6 The following are some statements that people have made about science or technology. For each statement, please

indicate to what extent you agree or disagree.

Young people’s interest in science is essential for our future prosperity (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

Science and technology can sort out any problem (%)

QA9.7 The following are some statements that people have made about science or technology. For each statement, please
indicate to what extent you agree or disagree.
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA9.8 The following are some statements that people have made about science or technology. For each statement, please
indicate to what extent you agree or disagree.
There should be no limit to what science is allowed to investigate (%)

[0}
o
g v
()] -
o) ) 5 IS ] 9] 1 <)
© © c K] 2 c (o)) ©
> o ° T o = < 2
[«)) e 0] [e] > -'E — [s]
£ ° > b 2 S 8 =
= R ° S S e = 5
) b K = =
s
Pz
— RJ o — E o — E () — E S — E () — — R S — E oS
8 83 8§ R3S &8 83 8§ 3 &8 83 &8 o 83 o K3
T =§ 7 ¢ 87 =§ & ¢ & =% =& T =§ 7 =%
2 5% 2 £ T ogT 28T osr o2 = 5% 3 o5y
o < o < o < o < o < o o < o <
LN INDIE SRR N RSN - N
Q Q Q Q Q Q Q
ey B 14 3 27 3 19 1 22 6 16 0 2 41 6 38 -6
se B0 ©v 3 27 1 21 1 28 -1 13 2 0 38 2 41 1
BG mm 22 3 32 2 210 -3 9 =2 5 - 11 54 5 14 -3
cZ b 13 2 31 -5 18 -9 29 12 0 4 -7 38 16
DK HEmm 11 -3 22 3 18 28 8 19 2 33 0 471 -8
pe HE 9 7 16 3 15 30 3 29 -1 1 25 4 59 4
EE B 23 4 41 9 17 16 6 3 =2 0 64 5 19 -8
e WHF 13 5 33 9 16 -4 28 3 10 =2 0 46 14 38 1
EL 2= 15 3 27 4 23 2 6 11 5 2 42 7 33 -11
s E 14 2 23 o0 15 2 5 22 4 37 2 44 -1
rr BB 11 2 21 4 16 26 -3 24 2 32 6 50 3
HR == 17 2 36 13 27 14 8 5 6 1 53 17 19 -14
T B0l 14 4 39 26 - 13 9 6 -2 2 53 13 19  -71
% | 23 10 24 18 -4 25 8  -71 2 47 17 33 -8
LV mmm 20 -72 39 22 9 16 5 3 0 0 59 12 19 5
LT mm 21 3 36 10 25 11 15 -14 3 -5 0 57 13 18 -19
W S= 12 4 25 -1 17 -3 31 4 15 =2 0 37 3 46 2
HU [ 26 9 36 0 25 0 9 -5 3 -3 1 62 9 12 -8
Mt Il 19 5 35 13 19 18 4 4 8 5 54 18 22 -12
NL o= 11 0 20 2 17 32 -5 19 1 31 2 51 -5
AT === 13 4 18 -8 17 6 28 4 23 6 1 31 -4 51 10
PL wmm 18 6 36 12 24 6 16 -14 -8 3 54 18 19 -2
pr EBl 19 9 43 16 8 15 22 1 2 0 62 25 30 -7
rRo BN 16 5 32 9 31 7 13 6 -9 5 48 14 16  -15
Sl B 17 -1 30 -2 24 6 18 0 10 -7 1 47 -3 28 -1
SK 9 3 271 o0 24 1 26 -2 12 -3 2 36 3 38 -5
Il == 27 20 41 19 17 4 12 27 2 -16 1 68 39 14 -43
SE mm 10 -2 31 17 15 5 33 -1 11 -11 0 41 9 44 -12
AL I 6 NA 14 NA 44 NA 18 NA 8 NA 10 20 NA 26 NA
MK B 28 NA 28 NA 22 NA 11 NA 8 NA 3 56 NA 19 NA
ME JEll 20 nNA 32 NA 20 NA 19 NA 8 NA 1 52 NA 27 NA
R FHM 10 NA 26 NA 24 NA 20 NA 16 NA 4 36 NA 36 NA
TR 46 15 28 6 16 -3 1 -4 3 -5 0 74 21 10 -9
BA Bl 16 N4 34 nNA 25 NA 17 NA T NA 1 50 NA 24 NA
cv B 7 5 21 -1 16 5 35 5 21 -3 0 28 6 56 2
| 1]
IS S= 6 -5 25 3 22 11 32 -6 15 -3 0 31 2 41 9
NO Bl 17 5 37 18 19 12 21 8 6 -2 0 54 23 27 -34
UK = 12 7 31 6 17 4 31 1 9 -7 0 43 5 40 -6
XK 30 NA 27 NA 22 NA 8 NA 4 NA 9 57 NA 12 NA




Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA9.9 The following are some statements that people have made about science or technology. For each statement, please
indicate to what extent you agree or disagree.
New inventions will always be found to counteract any harmful consequences of scientific and technological
development (%)
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The following are some statements that people have made about science and technology. For each statement, please

QA10.1

indicate to what extent you agree or disagree.

Science and technology make our lives easier, healthier and more comfortable (%)
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QA10.2 The following are some statements that people have made about science and technology. For each statement, please
indicate to what extent you agree or disagree.
Science and technology make our lives healthier (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA10.3 The following are some statements that people have made about science and technology. For each statement, please
indicate to what extent you agree or disagree.
Science prepares the younger generation to act as well-informed citizens (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA10.4 The following are some statements that people have made about science and technology. For each statement, please
indicate to what extent you agree or disagree.

Thanks to scientific and technological advances, the Earth’s natural resources will be inexhaustible (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA10.5 The following are some statements that people have made about science and technology. For each statement, please

indicate to what extent you agree or disagree.

Thanks to science and technology, there will be more opportunities for future generations (%)

2albesiq, [0

2216y, [e30]

mouy 3,uoq

2a1besip Aj|eyo|

aaubesip 03 pua|

sa1besip Jou sa1be JayeN

2a1be 0} pua|

2a1be Ajjeyo|

€10z fow-dy -
1202 Aow-4dy $ha

120z Aey-udy

€102 Aow-4dy -
120z fow-4dy Hig

120z AeN-udy

120z AeN-udy

€10z fow-dy -
1202 Aow-4dy $ha

120z AeN-udy

€102 Aopw-4dy -
120z fow-4dy Hig

120z AeN-udy

€102 Aop-1dy -
1202 Aow-1dy Jig

120z AeN-udy

€10z fow-dy -
1202 Aow-4dy $ha

120z KeN-idy

€102 Aopw-4dy -
120z fow-4dy Hig

120z AeN-udy

11

69

18

B 23 s 46
il

EU27

11

-10
4

66

23

51

-9
-10

-5
-17

-5
-13
-18

15
35

BE

79
72

12
18
19
17
10
19
21

44

BG
cz

10

50
45

22

-12

73

28
26
33
20

DK

73

-2

47

DE

50
51

EE

10

-10

7

10

70
70
55

45

mn
N

w

—
w

12
19
10

32
12
21

2

ES
FR
HR

-15

1

43 - 23

-10

69

20
17
12
17
20
26
19
12
15
20
16
18
25

48

72

50
37
52
44
46
42

Il 2 -

IT
cy

14

72

35
24
28

-13
-11

-12

mann=mmnns
L

Lv
LT
LU
HU

72

-20 14

60

12

15

14
35
35
26

77
79

-4

-2

44
53

47

-4
-24

MT

15

NL

12

-13

65

18 -

27

AT

48
46

PL

12

18
15
16

-4

=11

64

11

16
12
10

18
23

PT
RO

56
60

33
41

=11

-4

23

-6

19

- 11
- 8
10

63
76
69

16
21

-2
-12 50
-24 47

20
26
22

18 NA

7

32 NA

72

10

NA

6

N.A

12
5
12

40 NA
18 NA

25

NA

23

N.A
36 NA
18 NA
19 NA

45

=
i
2
i ]
k|

AL

NA

N.A

36 NA N.A NA
42 NA

42 NA
36 NA

MK

14 NA
14 NA

6

60 NA

61

N.A

2
4

N.A

NA

ME

NA

NA

10 NA

4

NA

23

RS

NA

N.A

81

NA

N.A

NA

13

N.A

TR

10 NA

66 NA
65
72

1

NA

N.A

7

23 NA

47 NA

19 NA

BA
CH

NA
NA
NA

13
5
8

12

-13

N.A
N.A
76 NA
N.A

66

NA
NA
NA

N.A 2
N.A 1
N.A 1

6 2

1
4
7

10

N.A
N.A
16 NA
9

22
13

22
23

11

NA
NA
50 NA

51
51
52

14

14 NA
21 NA
26 NA

-24

-
b L
1S

IS
NO
UK

NA

6

75

NA 4 NA NA

36 NA

39 NA

XK




Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA10.6 The following are some statements that people have made about science and technology. For each statement, please
indicate to what extent you agree or disagree.
Artificial intelligence and automation will create more jobs than they will eliminate (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA10.7 The following are some statements that people have made about science and technology. For each statement, please
indicate to what extent you agree or disagree.
We depend too much on science and not enough on faith (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA10.8 The following are some statements that people have made about science and technology. For each statement, please
indicate to what extent you agree or disagree.
The applications of science and technology can threaten human rights (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA10.9 The following are some statements that people have made about science and technology. For each statement, please
indicate to what extent you agree or disagree.
Science makes our ways of life change too fast (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA10.10 The following are some statements that people have made about science and technology. For each statement,
please indicate to what extent you agree or disagree.
Because of their knowledge, scientists have a power that makes them dangerous (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA11.1 To what extent do you agree with the following statements regarding scientists today?
We can no longer trust scientists to tell the truth about controversial scientific and technological issues
because they depend more and more on money from industry (%)

[0}
o
3
3 3 2 g 3 . ) 3
o 5 = =X =)} 3 v S
=) ® o ] 3 c 5} @
© c B L2 ~ wn
> o ) o S - < 2
= e 9] [e] > = — =
< o] 5 e = 5 S _
2 o © 2 g o A g
= g 2 S =
T
=z
— E o — E o — E o — E S — E (e} — — E S — R‘ S
8 R3S 8§ R3S 8 R3 8RS 8RS &8 9 R3S 8 K3
T S§ ¢ @ 8§ 8§ 57 =% = T =% & =%
2 5% T o8N T osnTognzosy o= = 5% 3 sy
o < o < o < o < o < o o < o <
TETELTE T LT ELY & TR g
Q Q Q Q Q Q Q
ey B 16 4 34 4 26 5 16 3 5 2 50 -8 21 5
Be BN 10 -7 38 5 27 4 21 9 4 1 ()} 48 -12 25 10
BG @ 19 -7 3 71 23 3 8 0 3 1 12 54 0 11 1
cZ m 8 4 31 -2 21 1 21 7 1 2 ()} 39 6 34 9
DK 2= 9 9 32 -9 30 8 20 7 1 4 2 41 -18 27 11
pe HE® 19 .77 33 -7 23 3 17 10 5 4 3 52 .18 22 14
EE M 10 -72 34 -1 25 6 24 12 1 2 ()} 4 -13 31 14
e HWHF 8 2 27 1 29 8 29 9 7 3 ()} 35 -1 36 12
EL 2= 14 8 34 -8 32 6 16 9 2 1 2 48 -16 18 10
ES B2 24 1 33 -1 15 -1 16 1 8 3 4 57 0 24 4
R BB 20 -3 33 9 24 10 15 3 6 2 2 53 .12 21 5
HR = 17 -12 39 1 29 11 11 4 3 0 1 56 -17 14 4
T BN 122 4 37 -1 32 6 13 1 3 0 3 49 5 16 1
cy | 40 5 31 4 16 o0 9 5 3 2 1 71 -1 12 7
LV mmm 17 -14 40 2 30 11 11 4 2 0 ()} 57 -12 13 4
LT mm 16 -8 39 -2 30 711 13 6 2 1 0 55 -0 15 7
lU | 14 -7 37 -2 25 2 19 9 5 2 (] 51 -9 24 11
HU [ 17 -7 37 3 31 8 10 -3 3 1 2 54 -4 13 =2
Mt "l 10 o 27 4 29 12 23 10 4 =2 7 37 -4 271 8
NL mmm 12 -7 32 -9 28 12 21 5 2 2 4 -16 26 5
AT === 17 0 36 -3 26 -2 13 4 2 4 53 -3 17 5
PL wmm 14 -7 33 0 29 3 17 3 0 4 47 -1 20 3
T Ell 10 o 43 2 19 5 23 10 5 3 (] 53 2 28 I3
rRo BB 20 4 25 -0 35 14 11 -1 4 1 5 45 6 15
S| B 29 -7 33 -1 23 11 3 3 -1 1 62 -8 14
SK 17 1 29 -70 30 14 3 5 2 5 46 -9 19
FIL o= 8 -72 41 -9 27 12 19 7 5 0 49 21 24 11
SE mmm 11 -8 38 -9 27 13 18 4 6 ()} 49 -17 24 6
AL M o9 n~NA 20 NA 53 NA 11 NA 7 NA O 29 NA 18 NA
MK & 24 NA 35 NA 24 NA 6 NA 4 NA 17 50 NA 10 NA
ME Bl 19 NA 36 NA 26 NA 15 NA 3 NA 1 55 NA 18 NA
R KM 18 NA 39 NA 26 NA 9 NA 2 NA 6 57 NA 11 NA
TR 26 0 32 12 30 11 9 1 3 6 0 58 12 12 -5
BA Kl 21 ~naA 37 NA 31 NA 8 NA 3 NA ()} 58 NA 11 NA
cv E> 13 -12 38 1 24 9 20 5 7 0 51 -11 25
.- — 72 29 -12 39 16 23 5 4 ()} 33 24 28 9
NOR- — 72 35 -10 32 18 21 4 -1 ()} 43 22 25
UK = 5 -0 22 -12 35 13 30 11 8 2 0 27 22 38 13
XK 20 NA 30 NA 28 NA 9 NA 4 NA 9 50 NA 13 NA




Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA11.2 To what extent do you agree with the following statements regarding scientists today?

Scientists only look at very specific issues and do not consider problems from a wider perspective (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA11.3 To what extent do you agree with the following statements regarding scientists today?

Nowadays, the problems we are facing are so complex that scientists are no longer able to understand them
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA11.4 To what extent do you agree with the following statements regarding scientists today?

Scientists should not intervene in political debate when decisions ignore scientific evidence (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA11.5 To what extent do you agree with the following statements regarding scientists today?

Scientists should intervene in political debate to ensure that decisions take into account scientific evidence (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA11.6 To what extent do you agree with the following statements regarding scientists today?
Scientists should be held accountable for the misuse of their discoveries by other people (%)

Diff. Apr.-May 2021
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA12a.1 The following is a list of characteristics that can be associated with scientists today. For each characteristic, indicate
if you think it describes scientists well or describes them badly
Reliable (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA12a.2 The following is a list of characteristics that can be associated with scientists today. For each characteristic, indicate
if you think it describes scientists well or describes them badly
Collaborative (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA12a.3 The following is a list of characteristics that can be associated with scientists today. For each characteristic, indicate
if you think it describes scientists well or describes them badly

Narrow minded (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA12a.4 The following is a list of characteristics that can be associated with scientists today. For each characteristic, indicate
if you think it describes scientists well or describes them badly

Bad at communicating (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA12a.5 The following is a list of characteristics that can be associated with scientists today. For each characteristic, indicate
if you think it describes scientists well or describes them badly
Honest (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA12a.6 The following is a list of characteristics that can be associated with scientists today. For each characteristic, indicate
if you think it describes scientists well or describes them badly
Arrogant (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA12a.7 The following is a list of characteristics that can be associated with scientists today. For each characteristic, indicate
if you think it describes scientists well or describes them badly
Altruistic (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA12a.8 The following is a list of characteristics that can be associated with scientists today. For each characteristic, indicate
if you think it describes scientists well or describes them badly

Immoral (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA12a.9 The following is a list of characteristics that can be associated with scientists today. For each characteristic, indicate
if you think it describes scientists well or describes them badly
Intelligent (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA12a.10 The following is a list of characteristics that can be associated with scientists today. For each characteristic, indicate
if you think it describes scientists well or describes them badly
Know best what is good for people (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA12b Please choose the three qualities that you think scientists should have:
(%)
(MAX. 3 ANSWERS)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA13A Below are a series of questions with two statements each. For each pair, please select the statement which comes
closest to your point of view. Please select one:
(%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA13B Below are a series of questions with two statements each. For each pair, please select the statement which comes
closest to your point of view. Please select one:
(%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA13C Below are a series of questions with two statements each. For each pair, please select the statement which comes

closest to your point of view. Please select one:
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA13D Below are a series of questions with two statements each. For each pair, please select the statement which comes
closest to your point of view. Please select one:
(%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA13E Below are a series of questions with two statements each. For each pair, please select the statement which comes
closest to your point of view. Please select one:
(%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA13F Below are a series of questions with two statements each. For each pair, please select the statement which comes
closest to your point of view. Please select one:
(%)

We should co-operate
enthusiastically with the rest of
the world and not isolate ourselves
Our lives are threatened by
organised crime and terrorism,
from which we urgently need
to protect ourselves
Don't know
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA14.1 And now, a few questions on how you engage with science and technology issues. Do you...

Talk about science and technology-related issues with family or friends (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA14.2 And now, a few questions on how you engage with science and technology issues. Do you...

Watch documentaries, or read science and technology-related publications, magazines or books (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA14.3 And now, a few questions on how you engage with science and technology issues. Do you...

Visit science and technology museums (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA14.4 And now, a few questions on how you engage with science and technology issues. Do you...

Study science and technology-related issues in your free time (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA14.5 And now, a few questions on how you engage with science and technology issues. Do you...

Sign petitions or join demonstrations on science and technology matters (%)

0u /193 A|pieH, |eo0]

S9A, [B10L

mouy| 3,uoq

J9ASU 'ON

1919 ApieH

Ajjeuoisesdo ‘'sap

Aeinbal 'sap

120z
Aow-4dy g

120z Aen-1dy

Lzoz
Aow-udy g

L2oz Aen-1dy

L2oe Aen-1dy

120z
Aow-udy g

120z Ae-udy

1202
Aow-udy g

L2oz Aen-1dy

120z
Aop-udy Jia

L2oe Aen-1dy

1202
Aow-udy Hia

L2oz Aen-1dy

18 62 -71 19 80

15

EU27

71

29

-18

11 44

27
10
28
24
22
32

23

BE

82

BG
cz

82

18
25

-23

54
50
54
46

16

15
21

-10

74
76
78

-16
-13
-35

DK

23

17
19

DE

-12

12

22

23

10

EE

=

64
96
87
80
77

27
4
0
7
7

36
4
13
19
22

-45
17
2
-14
-14

19 31
10 -712 86
2 76
6 67
7 55

11
13
22

33

W = m 1n <

— W o
w oo ET

82

17
1
23

66
74

48

16
14
29
31

13

<

1 . —

=

88
77
60
60
89
73

-18
-40

11

23

cy

-17
-30

18
30
22

14
24

19
33
33

<

=g
*

>
et}

40
40

-54

29
26
70
58
47

24
22

—
—

-22

-44

34
19
15
21

17

-]
=

10
25

-4
-25

=)
T

-14
-16

13

11

13
10

22
23

—
=

68
71

16

32

-22

9

NL

29
12
46

—
<

87

-11

-52
-21

74
25

13
29
14
20
23
31

3

)
o

-34
-14

-11

54
80
80

35

18

27

36
15
16

59

o
et

[
o

14
11

19
20

66
60

11

RO

Sl

-23

12

-13
-10

86
72
71

12
28
29

-2
-21
-17

63
41
41

30

10
23
25

75 NA

NA

19
13

6
3

11 NA 32 NA 43 NA

NA

84 NA
81

NA

69 NA

N.A

15
16
12
25

N.A

10
13
13
27

NA

N.A

NA

18
15
44

NA 65 NA

N.A

NA

NA 81 NA

4

NA 69 NA

N.A

NA

56 -34

39

17 31 -57

23

16

.|
[+

] Lt

N.A

81
65
76
75
68

NA
20

18

35
24

25
32

60 NA

37
51
46
40

NA
12
8
10
18

28

25
29
28

4 N.A 14 NA 21
8 4 271 6

4 20 -

2 23

8 24

1=

BA
CH
IS
NO
UK

NA

77

20 NA

59 NA 3

N.A

18

N.A

13

N.A

XK




Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA14.6 And now, a few questions on how you engage with science and technology issues. Do you...

Attend public meetings or debates about science and technology (%)
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QA14.7 And now, a few questions on how you engage with science and technology issues. Do you...

Take part in the activities of a non-governmental organisation dealing with science and technology related

issues (%)
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European citizen’s knowledge and attitudes towards science and technology

QA14.8 And now, a few questions on how you engage with science and technology issues. Do you...

Contact public authorities or political leaders about science and technology-related issues (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA14.9 And now, a few questions on how you engage with science and technology issues. Do you...

Provide personal data for scientific research (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA14.10 And now, a few questions on how you engage with science and technology issues. Do you...

Take part in clinical trials (%)
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European citizen’s knowledge and attitudes towards science and technology

QA14.11 And now, a few questions on how you engage with science and technology issues. Do you...

Lend your computer’s processing power to contribute to research on complex scientific questions (%)
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European citizen’s knowledge and attitudes towards science and technology

QA14.12 And now, a few questions on how you engage with science and technology issues. Do you...

Actively take part in scientific projects (%)
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QA15 Thinking now about the future, would you consider increasing your engagement with science and technology by doing

any of the following things? Please select all that apply.

(%)

(MULTIPLE ANSWERS POSSIBLE)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA15 Thinking now about the future, would you consider increasing your engagement with science and technology by doing
any of the following things? Please select all that apply.
(%)
(MULTIPLE ANSWERS POSSIBLE)
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QA16 Sometimes people find it difficult to engage with science and technology. Which of the following, if any, are the main
barriers for you?
(%)
(MULTIPLE ANSWERS POSSIBLE)
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QA17.1 How strongly do you agree or disagree with the following statements?

Science and technology do not really benefit people like you (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA17.2 How strongly do you agree or disagree with the following statements?
Science and technology could improve everyone's lives, but mostly improve the lives of people who are
already better off (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA17.3 How strongly do you agree or disagree with the following statements?
Science and technology could improve living conditions in less developed countries, but they mostly improve

living conditions in well-off countries (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA17.4 How strongly do you agree or disagree with the following statements?
Science and technology could help improve the environment but they mostly help companies make money
(%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA17.5 How strongly do you agree or disagree with the following statements?

Science and technology pay sufficient attention to differences between women's and men's needs (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA17.6 How strongly do you agree or disagree with the following statements?
Science and technology should consider the needs of all groups of people when developing new solutions

and products (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA17.7 How strongly do you agree or disagree with the following statements?
Involving non-scientists in research and technological development ensures that science and technology

respond to the needs, values and expectations of society (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA17.8 How strongly do you agree or disagree with the following statements?

We have no option but to trust those governing science and technology (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA18.1 How strongly do you agree or disagree with each of the following statements?

Overall, promoting gender equality is important for you personally (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA18.2 How strongly do you agree or disagree with each of the following statements?
Gender equality in the science and technology workforce would improve the outcomes of science and

technology (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA18.3 How strongly do you agree or disagree with each of the following statements?
Gender equality in the science and technology workforce would improve business profits and the economy
(%)

o
g @ " _
o o © g 5 3 w o
R - = c - 8
£ 8 © 2 S a ° 3
2 - b =
z
Uy | 26 32 26 7 4 5 58 1
I | | 15 24 47 5 0 39 14
BG mmm 25 32 18 3 16 57 9
cZ bm 16 22 41 15 6 0 38 21
DK Bmm 26 25 35 6 5 3 51 11
pe EE 20 25 28 11 7 9 45 18
EE - 10 20 39 18 13 0 30 31
1. 26 30 33 7 4 0 56 11
L = 34 37 19 5 1 4 71
s B 42 27 16 4 3 8 69
R K1 26 34 24 7 4 5 60 11
HR o 22 39 29 5 2 3 61 7
i | 28 45 19 3 1 4 73 4
o |z 55 23 14 3 1 4 78 4
AVAR—— 10 24 47 12 7 0 34 19
T 13 28 42 9 8 0 41 17
w - 25 24 39 8 3 1 49 1
HU 25 36 23 7 3 6 61 10
Mt IR 33 35 22 3 1 6 68 4
NL 13 24 36 14 8 5 37 22
AT o 23 32 25 9 4 7 55 13
T — 27 38 24 1 3 65 8
T ER 36 29 29 2 0 65 6
ro 11 26 27 26 11 3 7 53 14
Sl = 27 28 27 5 4 55 14
SK 17 32 31 4 8 49 12
FI 15 24 42 10 8 1 39 18
SE B 29 26 36 5 4 0 55 9
Y | 7 52 20 12 9 0 59 21
MK e 33 32 18 5 4 8 65
ve [ E3 16 39 34 8 1 2 55
RS 11 28 30 8 9 14 39 17
TR 46 32 16 3 3 0 78
BA Kl 29 40 22 2 2 69 7
cv EX 22 27 37 10 4 0 49 14
.- — 34 23 35 4 0 57 8
NO B 31 25 36 2 0 56
UK == 21 23 42 10 4 0 44 14
XK 51 28 14 3 1 3 79 4




Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA18.4 How strongly do you agree or disagree with each of the following statements?
Gender equality in the science and technology workforce would help ensure we live in a fairer and more equal

society (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA19.1 Do you think researchers in the following countries are ahead, behind, or at the same level as researchers in the
European Union on average, in terms of making new scientific discoveries?
The United States (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA19.2 Do you think researchers in the following countries are ahead, behind, or at the same level as researchers in the

European Union on average, in terms of making new scientific discoveries?

China (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA19.3 Do you think researchers in the following countries are ahead, behind, or at the same level as researchers in the
European Union on average, in terms of making new scientific discoveries?
Japan (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA19.4 Do you think researchers in the following countries are ahead, behind, or at the same level as researchers in the
European Union on average, in terms of making new scientific discoveries?
South Korea (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA19.5 Do you think researchers in the following countries are ahead, behind, or at the same level as researchers in the

European Union on average, in terms of making new scientific discoveries?
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA19.6 Do you think researchers in the following countries are ahead, behind, or at the same level as researchers in the
European Union on average, in terms of making new scientific discoveries?
(OUR COUNTRY) (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA20.1 Finally, for each of the following statements, please indicate whether you believe them to be true or false. If you
don't know, you can just indicate so.
The earliest humans lived at the same time as the dinosaurs (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA20.2 Finally, for each of the following statements, please indicate whether you believe them to be true or false. If you
don't know, you can just indicate so.
The continents on which we live have been moving for millions of years and will continue to move in the
future (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA20.3 Finally, for each of the following statements, please indicate whether you believe them to be true or false. If you
don't know, you can just indicate so.
Antibiotics kill viruses as well as bacteria (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA20.4 Finally, for each of the following statements, please indicate whether you believe them to be true or false. If you
don't know, you can just indicate so.
The oxygen we breathe comes from plants (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA20.5 Finally, for each of the following statements, please indicate whether you believe them to be true or false. If you
don't know, you can just indicate so.
Lasers work by focusing sound waves (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA20.6 Finally, for each of the following statements, please indicate whether you believe them to be true or false. If you
don't know, you can just indicate so.
The world’s human population is currently more than 10 billion (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA20.7 Finally, for each of the following statements, please indicate whether you believe them to be true or false. If you
don't know, you can just indicate so.
The methods used by the natural sciences and the social sciences are equally scientific (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA20.8 Finally, for each of the following statements, please indicate whether you believe them to be true or false. If you
don't know, you can just indicate so.
Human beings, as we know them today, developed from earlier species of animals (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA20.9 Finally, for each of the following statements, please indicate whether you believe them to be true or false. If you
don't know, you can just indicate so.
Climate change is for the most part caused by natural cycles rather than human activities (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA20.10 Finally, for each of the following statements, please indicate whether you believe them to be true or false. If
you don't know, you can just indicate so.
The cure for cancer exists but is hidden from the public by commercial interests (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA20.11 Finally, for each of the following statements, please indicate whether you believe them to be true or false. If
you don't know, you can just indicate so.
Viruses have been produced in government laboratories to control our freedom (%)
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Special Eurobarometer 516
European citizen’s knowledge and attitudes towards science and technology

QA20T For each of the following statements, please indicate whether you believe them to be true or false. If you don't know,
you can indicate so.
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